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*T can divide using
short division.

1) 22:2-=
2) 44-:4-=
3) 88+:8-=
4) 24-:2-=
5) b55+5=
6) 63+3-=
7) b0=+5H-=
8) 96+3-=
9) 84-:2-=

10) 48:4-=




**T can divide using

short division.

1) 48+:2-=
2) 26=+2-=
3) 84:2-=
4) 60=:2-=
5) b55+5-=
6) 63+:3=
7) b50=:+5-=
8 96+3-=
9) 84:4-=-
10) 66 +6-=
11) 80+:4 =

12) 93:3-=




***T can divide using
short division.

1) 86=+2-=
2) 70=:7-=
3) 46-+2-=
4) 88+8-=
5) 93+3=
6) 84+:4-=
7) 66=:6-=
8) 64 -2 =
9) 60=:2

10) 72+3-=
11) 84:6-=
12) 78+2-=
13) 65+5-=

14) 72+3-=







